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Test 3
Use properties of exponents to evaluate the following. Write as positive exponents:
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17. Determine the smallest angle. Ve 4 g 2w +1S = LY2O
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18. Complementary Angles- Two angles are com
more than twice the other angle, what is the mea

plementary. If one angle measures 15 degrees
sure of the angles?

e one = ZLothe —1S
X o+ <3 SR T 1 : 4
v
x =29 4+ (S
Bt Sub
Gse . Sub
¥ =1y A S
29 + 1S + (3;?0 € %15 <
33*;\2:?\% ) =y Tk A Y TR
e
e ¥ = Jo+1tS
3Y = LS - . -
= 5 | x = ¢k |-
i = sl
\ % = %/“ -y ‘/ 7%% ;
/T:7 \



19. Rectangle- The perimeter of a rectangle is 42 meters. If the length is one more than three
times the width, what are the dimensions (length and width)?

P = 4 W Thy TR
”"u,/.{:luz 42| _______\
00, YW P “ I‘U:’_g_ 5
/ \
2 (w4 1)+ 2w = | L =3
L=1L§
w4+ 1L + 2w = 41 \ .
P Ll s
SRS e T
Swes LA &
. T

20. Marlene has 11 coin in quarters and dimes for a value of $ 2.15. How many of each coin does
she have?
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21. How many ounces of a 15% saline solution must be mixed with 30 ounces of a 4% saline
solution to obtain a 10% saline solution.
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22. A chemist needs 90 mL of a 54% solution. He mixes 30% solution with 84% solution. How
much of each should be mixed in order to obtain his desired mixture?
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